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1.

In March 2025, I;IASA astronauts Butch Wilmore
and Sunita W ms returned to Earth on board
SpaceX’s spa ;1 faﬁ named :

(b) Discovery

(d) Challenger

The 2024 Nobel Prize in Physiology or Medicine
was awarded to Victor Ambros and Gary Ruvkun
for discovering :

(@) Ribosomal RNA

(c) Transfer RNA (d) Messenger RNA

In the 2024 Paris Olympics, the men’s freestyle

57 kg wrestling event Bronze medal was won by :

(2) SarabjotSingh () Aman Schrawat |

(c) Akshdeep Singh (d) D.T.Cruz :
q M

Which 1ntem§3,onal sports event was held in the
United KJng‘”&G‘m for the first time in 2025,

featunng tea s from India and other countries ?

(c¢) Hockey World Cup
(d) Badminton World Championship

India’s first manned deep ocean mission is
named :
(b) DIVE India

(c) Varunayaan (d) Vikramaditya

Which city«éwill host the 2026 Commonwealth
Games ?

(a) Bmmn’gham Melbourne

(c) Hamilton (d) Glasgow : EEE

In which country was the world’s largest offshore
wind farm inaugurated in August 2024 ?

(a) Denmark (b) United Kingdom
(d) Germany

A 2025 H, €T % TEHIC g9 oremR o e
farforerre & goeft W aToeht wweer 3 3T Wushe

(b) fewralt

- (d) SRS
Eré2024$rﬁaﬁm}aﬁﬁmﬁ%ﬁmm=héawﬂ
ﬁmmaﬁrﬁﬁm@ﬁmm%mﬁm
T ?

(a) TG ARETY
() ZERIANGY  (d) HU~K ARET

2024 W Al @t & 57 fam wt § g
ShIESTSET clT ST T 3hT Shie TGk femdl TG foherm

2025 ﬁmwm%@ﬁﬁ:mmﬁgﬁu
T NS fohar T o, fore e 3 = e o
A9 s foram 2

o
TR % S AHagad S SR R 1 A =
&7

(c) TR (d) Tersrmieer

2026 % UEHUSH Tl ol S fhe T &
qm?

ST 2024 ¥ T o Tl 9 AIqENT T B BT
3g1e form qur & foRm e 2

(b) 1SS Fohrew

(d) Y
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8. “Aqua Regia” is a mixture of which of the

2

U (a). Concentfated HCI and Concentrated HNO

(b) Concentrated HCI and Concentrated L
(c) HCl and HBr
(d) HCl and HF

Which of the following is correct ?

19
(@ 1metre=10 ~nanometre

90
(b) 1metre=10" nanometre

(¢) 1 metre=10" nanometre

(d) None of the above

e

10. Which of the following is not a luminous object ?

(b) Sun
(¢) Electric lamp
(d) Flame of candle

11. The type of mirror used in the headlight of a car
; ;

S:
(b) Convex mirror

(c) Plane mirror

(d) Plane convex mirror

12. The distance at which the average radius of Earth’s
orbit subtends an angle of 1 arc second, is known
as:

(a) 1 astronomical unit

__(b) 1 light year

(d) 1Fermi

13. Which of the following pairs (Fat — 0il) is not
correctly matched ?
(@) Vegetable fats — Phytosterol

b) Animal fats — Cholesterol

¢) Mustard oil — Lubricant

(d) Mineral o1l — Petroleum

8.

et W iR & & e frsor e 2

(b) W HCI 3R A% H,S0,
(c) HCI 3K HBr
(d) HCIRHF

Fefafea & S -arai 2 2
(@) 1%he=10"%

10. Frfifea & @ wiv-ar A fie 7852 2
) T

(c) forgaiva
(d) el i Serrar

11. R Al ISATRE F IR F5T ST a1t 2907 7 JHI
?:

12. 98 {1 @ w2 gealt <t whem o sftwa B 1 ok
UHUE HT IV AT Lt &, e & -

(a) 1 T AR

(b) 1IFHITIS
@ 1%

o

13.
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14. Which one of the following is a landlocked

harbour ?
(a) Ennore
(¢) Mumbai d) Haldia

15. According to Census 2011, which of the following
Union Territories has sthe highest. population
density ? y

(a) Lakshadweep ,
(b) Dadra and Nagar Haveli

Daman and Diu —
|

16. Which agro-climatic zone in Uttar Pradesh is most
vulnerable to climate change impacts, particularly

in ag iculture ?
(a) Bundelkhand Zone
(b) Central Plain Zone

(c) Eastern Plain Zone ' g%g
(d) Western Plain Zone, Bl

17.

Nat10na1

onitoring the &

Water pollution monitoring
(c) Plastic waste management
(d) Industrial emissions control

18. The ‘hydrological cycle’ is controlled by :

(a) Epiphytes \ (b) Forests |
(c) Lichens (d) Grasslands

19. Which of the following states of India has the
highest density of populatlon ?
(a) Bihar ‘(b) Punjab

(c) Madhya Pradesh Uttar Pradesh

20. The name of the scwntlst who proposed the
“Ten Percent Rule” of enérgy is :

\@ Lmdeman ) ~ (b) Odum
(c ansley (d) Haeckel

21. Plants that tolerate a wide range of temperatures

throughout the year, are called :

(c) Microthermal

(b) Stenothermal

(d) Hekistothermial

14. Tl & @ ST & REIE (@SATE)

(o) ez |

(a) THER

(© T2 (d) TIce3
15. 2011 3t SO 3 @R, Frfeaa 3 & forer shes:
STRI JST 3T SHEEAT Tcd Taierh § ?
(a) wEH |
(b) T I TR Tl

19, RG> FreafRed 3§ O h-0 T 1 SSaaq SHae

e ITRIT ST © 2
(a) T (b) oS
(c) weASR () ST}

20, STl ST “q@ TTRTd shT (RE” & aTet SIiTieh ST I
?:

® s

(c) &u (d) ¥ %’i‘g

21, NS W A 3 U o R @ W
éﬁ%,%ﬂﬁ%

(@ Tomw | ) @
(c) HISshiY™ - (d) TR
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22. Consider the following events and arrange them in
correct chronological order :

L Cabinet Mission

II.  Cripps Mission

II.  Quit India Movement
IV.  Mountbatten Plan

Select the correct answer from the codes given
below '

(b) 1V, I, 11, 11l
(¢ ILLILIV
(d LI, IV

23, Consider the following statements :

I. The -first Muslim President of Indian
National Congress was Badruddin Tyabji.

II. The first woman .President of Indién
National Congress was Sarojini Naidu.
Which of the statements above is/are correct ?

a) OnlyII
L(0) Onlyl |
(c) BothIandII
(d) Neither I nor II

L

24. With reference to ‘Ajivika Sect’, which of the

following statements is/are correct ?
L. Ajivika sect followers mostly lived in forests.

IL. This sect enjoyed great respect during the
Maurya era.

Select the correct answer from the codes given
below :

(a) OnlyII
b) OnlyI

c¢) BothIandIl

(d) Neither I nor

22, ﬁmﬁr@amﬁwﬁwﬁﬁqaﬂtﬁaﬁ
HIATTHH T SR T :

L e fime

1. forew fimm

[l NRA Bl TR

() IV,L I III

(¢) OL I II, IV gﬁ
@ LILOLIV /.

g%ltrama@n_

I SIS g SRt Tsdier i o et
e reae off |

ST 7 A T HeH T /R 2
(2) HaAIl |

(© I3RIae
(d TNLIRI

24, T dw % ved § Fefle § @
-V HIT T /R 9 '

I SIS TR 3 o e 1 3 e o |

1L $9 WY o6 wite 3 & ohieh ot T |

el o e e 3 & Tt S sh SR i

(a) S II

(b) FeTI |
(d TALIRI
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25. Ina code language, “tob iso har” means “Tobacco
is harmful’, “avo har hab” means ‘ Avoid harmful
habit’, and “ple avo tab” means ‘Please avoid
tobacco’. Which is the code used for ‘habit’ ?

| (a) hab_| (b) har
c) avo (d) tob

26. A bag contains¥5,%2 and¥ 1 coins in the ratio of
3 : 4 : 5. The total value of all the coins is
¥ 2,100. How many coins of T 5 are there in the

bag?
U 210 iV

(c) 245 =10
(d) 250 g;f g%

27. Find the missing number :

4 -6 s '
VANGYANYAN
6 5:0 4 6 3
(c) 67

(b) 55
(d) 86

28. Ina queue of boysy A is seventh from the left and
B is fourth from’ ‘the right. When A and B
interchange their f-jf)ositions, then A becomes
fifteenth from the left. Find the position of B from

the right. -
\ (@) 12th | (b) 17th
c) 2o (d) 19th
29. Find the value of x, if :
2*3=11,
3*5=23,
and x * 6=41.
a) 4 ® 3
roman SRR

30. Intel Core i9 is a typ

| (b) Processor

(¢) Harddisk d) None of the above

25. T e T ﬁ, “tob iso har” bl 319 § “Tobacco is
harmful’, “avo har hab” =l 319 ® ‘Avoid harmful
habit’ 3T “ple avo tab” 371 ® “Please avoid
tobacco’ | “habit % fTT -1 ETRREN) IERIRIDI
27

\(2) hab f (b) har
c) avo (d) tob :

26. THIATTS, T2 AT 1% e 31 4 : 5 I
¥ | wft et v o1 I T 2,100 | A HT 5
fha foah & 2
(@225
D U
Ec) 245
(d) 250
27. QO ST I A :

4 6.2
ANZANWAN
6 5 5 4 6 3

(c) 67 d 86

28. STeTeh! <h1 Uk UiRR H, STl ST & Wide T W A qe
el TR & S T O B 3T | ST A 79T B 119
3 79T T TE A §, A A A ST 159 T
WRNAT R | SR S Y B ol T T hINT |

(c) 20= (d) 193t
29, x 1T FT HIT, A
2*3=11,
3% 5=23,
TWx*6=4171
[EIEE
%‘ @ ¢ -
30. 19 Teh TR T 7l

=
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31. A MAC (Media Access Control) address is |31, uws &% (TS T Hhegier) TS @ =t
. bits long. 2 :
| () 48 | 32 »
(2) . ; g 128 (b) 32
) 64 @ 128

32. Which one of the following Chola Kings
destroyed the Chera navy at Trivandrum and then
captured the Pandyan King ?

(a) Rajendral
b) Rajadhiraja
(d) Kulottunga

33. The famous Battle of Haldighati between Akbar
and Maharana Pratap was fought in the year :

(a) 1579 AD. (b) 1575 A.D.

34. Who among the following assumed the titles of
“Yamin-ul-Khilafat”  and
Momineen” ?

(a) ‘Balban
(b) Nasiruddin Mahmud
(c) Firoz Shah Tughlaq -

o

35. The grand stupa of Amaravati was built by the

“Nasir-e-amir-ul-

(2) Maurya dynasty
(c) Shunga dynasty
(d) Vakataka Dynasty

36. Which of the following is mot an Operating
System ?

(a) Linux

(c) Windows

(b) Unix
(d) Microsoft Office

frfrfea 7 & forer =ier T 3 Briesm & = Adr
aqéMY .
(a) TSF
\(c) TISTUST Sror_|

(d) FAaGT

STeheTt SV HETIUT ST 35 Hes TR, Sediene) i s
ST AT ¢ ’

() 1579%.9 (b) 1575%.%

ﬁmﬁlf@a ¥ ¥ e coir-Sa-Raemea 3t

32.

33.

34.

35. ITUS % o W w1 Fator
ST 73T T |

ERU

@ e Tt

i

(c) ;T
v : EEE
(d) HTeRTeeh TSI E%

36.  Freferia & w-ar iR R 781 2
(a) Toem
(c) IESIE)

(b) IFEE
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37. Given below are two Statements, one is labelled as 37. = @ WA R ww %, o e
Assertion (A) and other is labelled as TR (A) 71T TR I HRET (R) el TR 2

38.

39.

Reason (R).

Assertion (4) : In photosynthesis, the radiation

energy of sunlight is converted into chemical
energy and stored in food materials.

Reason (R) : The final product of photosynthesis
is glucose sugar, which soon turns into starch.
Select the correct answer using <the codes given
below : 3

Both Assertion (A) and Reason
and Reason (R) is the correctexplanation of
the Assertion (A).

(b)

but Reason (R) is not the correct explanation
of the Assertion (A).

Assertion (A) is true, but Reason (R) is false.
Assertion (A) is false, but Reason (R) is true.

©
(d)

Match List-I with List-IT and choose the correct
answer using the codes given below :

List-1 List=IL
(Natural Source) (Acid
A. Vinegar i Mefﬁ?t"noic acid
- B. Tamarind ii. Lactl?f acid
C. Sour milk (curd) iii. Acétlé acid
D. Nettle sting iv. Tartaric acid
Codes :
(a) A-iii, B-iv, C-ii, D-i
(b) A-11, B-m, C-1v, I
(c) A-i, B-iii, C-iv, D-ii s
. e .. E E
(d) A-iv, B-i, C-iii, D-ii E‘%

What is ‘Hydroponics’ ?

(a) Grafting a plant -

Growing a plant without soil :

(c) Study of vegetables

(d) Soil conservation

38.

MBI (4) : THRI-GTASOT H, T o TR hl
T et 1 TETe Sl 3 SaeeRt GTel UgTel
7 wifra ferm ST R |
FRO (R) : THEI-GTANT T A e TR
e R, 51t o st @ wiie () H Sea S 7
A= T 77T e T ST ST TR ST ShT TR ShINI
I (A) AR BT (R) g
T (R), ANRTHI (A) 3l &I e wian ({

%|

(b) :

T (R) iR (A) T Tt =TE T8
Fare |

(c) RTRY (A) T &, TR T (R) T & |
(d) ARMHY (A) T R, T FRT (R) T & |

-1 1 -1 & gafera hiferg it g Ty she

WW%‘(H@W@W:
Tl A1
(I Gi) (377
A. T i. AIHTEH A
B. sHelr ii. fcrees o
C. TEIgy (&) iii. Wehfeen e
D. WG@EFTW iv. CIoNeh 3T
He

(a) A-iii, B-iv, C-ii, D-i
(b) A-it, B-iii, C-iv, D-1
() A-i, B-iii, C-iv, D-ii

(d) A-iv, B-i, C-iii, D-ii B

[ElreRs

TSN FATE ?

(a) eI o AT ST

(b) o Rt & e s

(c) TiSSIT T STERA =TT
(d) &t TRE
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40. Consider the following statements with reference
to world population :
I Brazil has the highest population among the
South American countries.

I. Asia continent has the hlghest growth rate of
population.
IIl. Africa is the most densely. populated

continent of the world.
Which of the above statements is/are correct ?
(a) OnlyII
(c) BothIandII
- (d) BothIandIII

Which one of the following separates Tasmania
from Australia ?

(b) Tasman Sea
(c) Magellan Strait
(d) Great Australian Bight

41.

42. Which one of the following pairs is not correctly
matched ?
(Plantation Crop)  (Name of Country)
() Rubber — Malaysia
(b) Cocoa —  Nigeria
(c) Tea - Sri Lanka

(d) Coffee e Uzbekistan

43. Which of the following commodity has the
greatest share of Indian exports ?

(a) Mineral ores
b) Engineering
(c) Handicrafts
(d) Agricultural products

goods

R

" 44. The year 2036 will have the same calendar as that
of :
~(a) 2007 (b) 2006
(©) 2008 @ 2009

40, Torm @ 3 ded ihfERiRed Rt W RER

I e gl A TEd e
I. WReT AEEW e SHEen gy ®
ware |
II. 3nshient forea ot wariiren we s weEiu & |
ST A A HA-AUA T/ 2
a) hadl 11
(c) 13RI
(d) 13 IISH
41. ﬁm%%aﬁ%aﬁ?m@mﬁmﬁw@%mﬁ
(© ﬁﬁ?ﬁ
(d) ﬁzw@%mw
42. Tefafea i A P eh el T A R e
(ST FeT) (391 7 7T)
(@ = - WaRem
() FeT @) - s
©) = =

(d) Y3
44. =¥ 2036 T FoST T BT, ST THE
(@) 2007 % (b) 2006 T
(d) 2009
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45. In the following question, select the related word
pair from the givenalternatives :

Tuberculosis : L%és :: Typhoid : ?

(c) Lungs _ -(d) Brain
46. 'Which one of the following figure is different from
the rest ? '
@ | /\ (b)
5 A
e
47. Inthe following \gure, what number will be at the
place of the missing number ‘x’ ?
241 2
613
(@) 16 RO 18
g EgE
® B
v E e »
48. In a code language, ‘MISTAKE’ is written as

‘9765412’ and ‘NAKED’ is written as ‘84123°.
Then, in the same language, how will
‘INTIMATE’ be written ?

(b) 897866145
(c) 79438163
(d) 78698365

45. et s o, few e fommed o @ welfer wrse g
T
AU : S : : TFHES : ?

® 7
() wHS (d) wRa=h
46. Tr=fafaa empfcdi 8 @ P-H T AW AR R 2
@ | /\ b)
(©

47, Tt R, e v 0 3w w A
GE&AT AT 2

EIEE
24| 2 B
613
(a) 16 ®) 18
©

48. forelt spe w1 § “MISTAKE’ i ‘9765412° forar

AT § T “NAKED’ &l ‘84123’ for@r siar @ 1 &t
‘INTIMATE’ sl S 187 7 59 forar simeem 2

(b) 897866145
(c) 79438163
(d) 78698365
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49. Match List-I with List-II and choose the correct
answer using the codes given below :

List-I List-IT
A. Iqta i. A portion
B. Mahrousa ii. Land under state
administration
C. Khalisa iii. Land revenue
D. Shiq iv. Protected town
Codes :

(@) A-iii, B-i, C-iv, D-ii

(¢) ~ A-ii, B-i, C-iv, D-iii
(d) A-i, B-ii, C-iii, D-iv

o

Which of the following statements is/are correct in
the context of the Treaty of Lahore (1846) ? -

50.

. The Maharaja left all his territories beyond
the river Satluj forever.

Il The Maharaja left his rights over all the
forts between the Satluj and Beas rivers in
favour of the Company.

III. The English army could no longer pass
through the Sikh State.

Select the correct answer from the codes glven

below:

=)

(b) OnlyI

(¢) I IIandIII

(d) Only II and III

49.  Tl-1 3 -1 & aora g ot 9 Re e
T ST o T S g

Ell-1

-1
A. T
B. Welwr i,
C. @I/ i
D. e

i.

(c) A-ii, B-i, C-iv, D-iii

R

(d) A-i, B-ii, C-iii, D-iv

e 1 e (1846) 3 ot AreafrRen #
HA-E/A T T
W%wwﬁéiﬁ?ﬁn%mmm
REEEARIE S E

L. Saqs 3R sam e & ofter % wft it w
mﬁmmm%wﬁaﬁg
feam |

1IL aﬁsﬁ@mmﬁl@mﬁﬁqﬁwm
off |

e o e e @ et s o e i
(b) FAI

50.

L

(¢) I Ifm
(d) e II AR I
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s1.

52.

53.

54.

35;

(a) August Offer, Cripps Mission, Shimla
Conference, Cabinet Mission Plan

(c) Shimla Confer

Offer, Cabinet: i
(d) August Offer, Eabinet Mission Plan, Shimla
Conference, Cripps Mission

According to which Article of the Indian
Constitution, — “No citizen shall, on grounds only
of religion, race, caste, sex, descent, place of birth,
residence or any of them, be ineligible for, or
discriminated against in respect of, any
employment or ofﬁcs«y,nder the State” ?

Article 15 '3 (b) Article 16(4)

5 () Article 17

€

f@ian Constitution, have the

.m

In which part of the

provisions for elections been made ?
\(2) PartXV | (b) Part XIV

(c) Part XVI (d) Part XVII

Who was the first speaker of the Lok Sabha ?
(a) RaviRai (b) Balram Jakhar
(¢) Mira Kumar

Which of the following pairs is mot correctly

matched ?
(Fundamental Ri hts)
nght to Free' r-'

(Articles)
. Articles 23 —24

Right to Equa‘,‘ﬁiy

(b) : Articles 14 - 18
(c) Cultural and e : Articles 29 — 30
Educational
Rights
(d) Rightto Freedom : Articles 1922

Which of the following is the correct chronology | 51.

ﬁnﬁ%aﬁ%ﬁma“rns‘waﬁaﬁraﬁ

(b) Rwen wwemE, Sme fem zﬁa:n —
sy, Fohee e
(c) Bmem wdiem, frew fmm, /e wam,
EICECAUNERISE
(d) TR YETE, hiome TR e, Rmen
- g, free e
52. R Wi o fore Ao o AW, — “forelt ot
T o 3 & fomelt oft STTem o T & el forelt
oft FreieT o1 ue 3 Geier o S e ST S A
3T 1Y ST e ok stT@T 2
(a) 15 (b) AT 16(4)

O i6e) @ wg=e17 o
53, Wﬁﬁm%mmﬁﬁahqmwﬁq

9
(@ SXVI5)F § ©) wmxiv 4

(c) MMXVI(16)% (d) WA XVII(17)H
54, A TUT 3 T e (THHT) i o 2

(@) TaT= (b) SR STES
(c) HUFAR (d) Sit.aft. Hreeet

55. ﬁw%ﬁaaﬁ@raﬁq |1 I e GAfa 78T & 2

(b) mm T

(0 wepfasfREr : Ig=T29-30
Heieft ATRIHR :

(@) wEFaTHIARGR ;. FTE 19— 22
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56. Introducing Shyam, a lady said, “The father of his
father-in-law is my father-in-law.” How is Shyam

related to the lady ?
Husband (b) Son
(c) Son-in-law § (d) Father

Ashish leaves his house at 20 minutes to seven in
the morning and reaches Kunal’s house in
25 minutes. They finish their breakfast in another
15 minutes and leave for their office, which takes
another 35 minutes to reach. At what time do they

leave Kunal’s house to reach their office ?
W (b) 7:40 AM
c) 745 AM (d) 8:15AM
The final of the World Chess Championship 2024,
was played between : _
(a) Viswanathan Anand and D. Gukesh
(b) Dmg Liren and Vladumr Krammk

3.

58.

(

~ 59. Find the missing number :

LYY

1225
). 2542 (b) 639
[ (©) 529 ] (@ 641

60. A family consists of six members P,Q,R,S, T and
U. There are two married couples. Q is a doctor
and the father of T. U is the grandfather of R and
is a contractor. S is the grandmother of T and is a.
housewife. There is one doctor, one contractor,
one nurse, one housewife and two students i in the
family. Which of the following is definitely a
group of male members ?

0 U

© QU,P (d U,T

56. T 3T TR S 5T, T HieT ¥ a, ¢ “Toh T
ﬁmﬁ%m%l”maﬁrwn%wﬁww%?

ity o W won F o fee w ey g
Toreherar &-aiit 25 for7e 3 o % s ugEar €13
I 15 e 8 SIoRT TrvaT T F ¥ si ey
3w o fore e S Sl uge # 35 e afit
W%l%mﬁm@%%ﬁm%mﬁ
mmﬁmﬁ%? .

57.

(b) S 7:40
(d) W 8:15

58, ﬁaam%&qmﬁrq 2024 T IS fohih T

T UGN & B: 96 P, Q, R, S, T a9 U | vREw
4 o S ¥ | Q wh St & ikt T Rrar 2
U, R T 31T & 31 98 Th SR 1 S, THhr 2t 2
aﬁtagwq%vﬁ%mﬁwﬁww T SRR,
T T, W‘T%‘TﬁWE\TEH%IﬁW%I%Hﬁ@
#mﬁrﬁmmﬁmmﬁrwmé?

@ QU,T
() QU,P

60.
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61. Which one of the following has received the Major

Dhyan Chand Khel Ratna Award 2024 ?

(a) Annu Rani

(c) Vantika Agrawal
d) Sukhjeet Singh " Ben

(d) jeet Sing o is

In 2025, how many individuals vggre honoured

with the ‘Padma Vibhushan’ awazd 7,

@5 (4 | (d) 6

Padma Bhushan 2025 awardee for Science and

Engineering, Vinod Dham is known for his role in

the development of : »

(a) RISC Computing (b) SPARC Systems
(c) ZiLOG Processors (

62.

63.

e Pentium “hip
64. What initiative did the Indian Government launch
to encourage climate-friendly lifestyle choices
among citizens ?
(b) National Mission for Clean Ganga
(c) Swachh Bharat Abhiyan .
(d) Green India Mission fone
India’s Chandrayaan-3 made a soft landing on the
moon, making India the country to do
SO.
(a) Third (b) Second
i (c) Fourth W (d) None of the above
66. The Lok Sabha Elections 2024 were held in how

many phases ?
h

65.

(b) 6 phases
(c) 8 phases (d) 9 phases
67. Which one of the following is:an Export
Processing Zone ? .5
(a) Delhi b) Falta SEZ
(c) Kanpur (d) Bengaluru
68. When was the ‘Zero Poverty Campaign’ started by

the Uttar Pradesh Government ?
(@) 2 October, 2024 (b) 15 August, 2024

c O January, 2024 (d) 26 January, 2025

61 Freien & & Rreen! e S < T T GER
2024 e R ?
(@) FgTH
(c) dicenl SUAIT
(@) gesia &

62. mzozsﬁ,%aﬁaﬁaﬁaﬁ‘wﬁxw’wnﬁ
gremTferer foRe T 2

@5 4 @ 6

63. o 2025 & forg T SoRRAGT @ & T T &
e e e e e S o
AT STAT ST @ 2
(a) RISC WIUFT (b) SPARC JUITit
(© ziLoGTRm \@ SR

4. T T AT S TSR o6 SRt St 1t '
STy 35 e o et <hY YTETIR 1 8 2

(b) TSI & T forsTT
(c) e VI IR 5
(@) e e i
65. W%W‘Mﬁﬁﬂ?ﬁ%ﬁ%ﬁﬁﬁ,ﬁ'ﬂﬁ
T QT R ST AT
(2) (b) fecft=
(d) SoeRr ¥ IS TR

66. T T T 2024 R SO WA BT
T 9

(c) 8= (d 9=
67. ﬁn%@aﬁ%aﬁw-mﬁahm@ﬁﬁiﬂ)aﬁ
27
(@) foeel \©) FreerEs |
(c) =X @ =
68. e SR T E S T AR S S

frar TR ?

(c) 265 a,2024  (d) 26 SHad, 2025
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69. Match List-I with List_-II and choose the correct | 69, qz:ﬁ.{ Eﬁ@.llﬁgﬁmaﬁﬁq ﬁtﬁﬁqane
answer using the codes given below : WWFH@W%’E{Q »
List-1 e
. (Name o List-I e -1
go;phe{e (Ilj)cation (State)) mﬁw \ (3l (<))
- Reserve)
A. Maﬁas i. Meghalaya A. A" i e
B. Similipal ii. Kerala B. fufireliomer il. W
C. Agasthyamalai iii. Odisha C. IRECTHeTS | iii. 3ffeam
D.. Nokrek " iv. Assam D. hieh S v, ITEH
Codes :

(a) A-i, B-ii, C-iii, D-iv

(b) A-iv, B-ii, C-iii, D-i

(¢) A-iv, B-iii, C-ii, D-i

4 Adii. Buiii. Caiv. D El%
(d) i1, B-iii, C-iv, D-1 By

70. Which of the following pairs (State — Name of the
Coal field) is not correctly matched ?

(State) (Name of the Coal field)

(a) Madhya Pradesh — Singareni |

(b) Maharashtra — Wardha Valley
: (¢c) Chhattisgarh — Korba
(d Odisha _ Talcher

71. Which of the following pairs is mot correctly
matched ? ‘
(@) Chennai — Artificial Harbour
(b) Visakhapatnam  — Natural Harbour

(¢) Kolkata — Deepest Harbour of
India |

() Tuticorm — Fishing Harbour

(@

A-ii, B-iii, C-iv, D-i

70. Trfafen gwt (@ - S & w1 AW) § ¥
-1 T YA 78 © 7

(I & 1 1)

) wewg - FEb
) oHEE - W
ol .
(@ anfesm - awRR |
71, FrefRe gt & & -9 o we gatrd 78 | ?
(@) =g — m B
(b) RmmeTe™ —  SITeRereR OISRt

(d L\

B TS ERUIGIED)
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72. What was the FiscalHealth Index of Uttar Pradesh | 72. 8 2022 — 23 T I SR T TSR TR
in the year 2022 — 2377 : i (Rrehet Seo S8 fehemT o 2
() 370 b) 479 (@ 370 b) 479
@ 350 1 « h () 350 \(d) 459
73. In2023-24, which state was the leading producer | 73, ¥Rq ¥ 2023 — 24 T HA-AT T @RI Foft
of food grains in India ? ITESE o1 ?
(a Madhya Pradesh (a) TS TR
c) Uttar Pradesh i -
(d) Maharashtra r\ﬁ% E%
(d) TEWTE -

74.

(a) 2011
(c) 2005

75. When was the ‘Kisan Mitra Yojana’ started in
Uttar Pradesh ?

18 August., 200

a 1
(c) 18 June, 2001

Which cash crop is the major contributor to the
agriculture economy;of Uttar Pradesh ?

a) Cotton (b) Wheat

(d) Maize
“Operatlon Kayakal =scheme launched in Uttar

(b) 18 August, 2010
(d) 18 June, 2010

76.

7.

(b) Improving hlgher educatlon
(c) Promoting skill-based education
(d) Expanding university infrastructure

78. Consider the following figures :
2 6 ' 3 Vs
80 | 24 120 | 36

What is the missing number ?

a) 8 : () 7

@ 10

74, Fmaﬁﬁwsﬁﬂmmmﬂﬁww@?ﬁsﬁ
AT TS 2
(a) 2011 b) 2013
(c) 2005 \ (@) 2007 |
75, S SR “FRE o SIS Sl Y6 o 7% 2
(a) 1837, 2001  (b) 18 37T, 2010

(c) 183, 2001 (d) 18,2010

76. <A SR B F refoeren # fohw TRl HE BT
eI AR © ?

=

77. wq%srﬁm

(b) T

(d) AT
# TS “SIRIA HEHT” ASHT

(©) mamﬂ\%mﬁmém
(d) Wﬁﬁ%gﬁﬁﬁ%wﬁﬁﬂm
78, o€ TS Tt o R RN ;

2 6 3 2

120 | 36

) 7
(@ 10



https://play.google.com/store/apps/details?id=com.xodo.pdf.reader

Made with Xodo PDF Reader and Editor

i

AT .UNHSIV-01
79. Which one of the following Union Territories of | 79. 2011 ¥t SFrvFT 3 s % Fr=iRifad e s
India had the highest literacy rate in 2011 TSI # O foreeht TreaT @t Ieay off 9
? ' :
Census ? . (a) TG
Chandigarh WE-
| (b) Lakshadweep : :
Daman and Diu (e} A )

(d) Andaman and Nicobar Islands

80. ‘Yela Mala’
following ?
(a) Garo Hills

(b) _Cardamom Hills |

(c) Anaimalai Hills E%
(d) - Shevaroy Hills il

is the name of which of the

81. Which one of the following pairs (Tree — Area) is

not correctly matched ? -
(@) Teak — Western part of the Indian Peninsula
Sundari — Sundarban Delta

(c) Deodar — N11 giri Hills

Peninsula

82. ' Which of the following is a local storm of Bengal
and Assam, useful for tea and rice cultivation ?
(a) Blossom shower

b Mango shower

(d) Karaburan

83. Which one of the following pairs is not correctly
matched ?
(Mountain
Prass) (State)
() NathuLa - Sikkim
(b) ShipkiLa — Himachal Pradesh

Arunachal Pradesh
Uttarakhand

'

(¢) Zojila
(d) SinLa -

81. Frffea 7wt @ — &on) & ¥ P D
gafea 78R 2

(a) T — TRt TRreor shT afSeft sy

(b) el -g

(d) ¥eT-— wr(aﬁamzﬁtr Sl 9T

82. ﬁw%f@aﬁﬁaﬁ?mwmawmamﬁ
T I =Tae hl Bl oh 178 ATEIH & 7 A
(a) ST SiER
- (b ﬁﬁm
=
’ ElEE
@ g =

83. ﬁw%rﬁaawﬁ #r 1 e e AT TE ® 2
(qa%‘)aaz'f)

(@ -
(b) Rhrar

%ﬂﬁﬁﬂ%sr
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Which of the following is mot a beneficial
insect ?

(a) Bombyx mori
(b) Apis mellifera
Laccifer lacca

(d) Helicoverpa arm;ljera

[EEE
. B
Consider the followir;g statements with reference
to the 16th Finance Commission :

8s.

I. The Commission was constituted‘ on 31st
December, 2024.

II. Shri Arvind Panagariya is its Chairman.

Which of the above statements is/are correct ?

() Onlyl

(c) BothIandII “(d) Neither I norII

86. Which one of the following is a correct match ?
(a) Grow More Food — Jawaharlal Nehru
: Campaign
(b) Etawah Pilot — Albert Myre
Project

(c) Co-operative — Mahatma Gandhi

Movement

(d) Sevagram Project — Vinoba Bhave

87. The Destructive Inse
passed in the year __ <~
(@ 1929 ‘
(c) 1946 (d). 1957
88. Which of the following chemicals is used to hasten

ripening of fruits ?

(a) Malic hydrazide

(c) Cycocel

(d) Indole-3-Butyric acid

84. Treforiga o & H-UT T TR hie TE ? ?
(a) Fiftared T '
(o) e AfeTHT
(c) I AT :

85. 163 forr =TT % wed # FreferRaa el W o)
T :
L SR ST IS 31 TR, 2024 S AT AT
1L f srfere e $6eh STERT § |

I § A PIA-GVA FA T R/ ?
\Q Fwn | © ¥l
(c) I aM @) TNLINI

86, Frefurfian i & e ol giRT & 2

(@) AT 3= SIS
SRR

— VAT S

(b) TEETIRES S ‘miﬁm

qISTH]

(c) eI ITiETH
(d) SEmT YREST

HETeT et
- ferwme

87. TR i ik drew e @ e fiy) o

7 TR g 8

e

() 1946 (d) 1957
88. Fr=fefad § & F-91 WA Bal Sl IS ThE H
I SR BT ® ?
(a) AT TREwES
©)

@) Fom-3-qeRw s
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~ 90.

89. Who presided over the first session of All India

Trade Union Congress at Bombay ?
(b) S.A. Dange

(c) B. Shiva Rao

(d) N.M. Joshi

Which among the following was not one of those
states which were annexed to the British Empire
by Lord Dalhousie on the pretext of the ‘Doctrine
of Lapse’ ?
(a) Nagpur
(b) Satara
c¢) Jhansi

EEE[E
BB

91. Who was the Governor General and Viceroy of
India at the time of the formation of the Indian
National Congress ?

(b) Lord Ripon
(c) Lord Lansdowne
(d) Lord Curzon

\

92. Who established the Central Hindu College in
Banaras, which later emerged as the focal point of
Banaras Hindu University ?

(a) Bal Gangadhar Tilak
(b) Madan Mohan Malviya
| (C) Annic Besant |

(d) Swami Dayanand

93. Where was the first session of the Indian National
Congress held ?
alcutta
(c) Poona
(d) Lahore

89, s § few W 98 IFEW wRW % TR
ARSI it arergrar f3rem i off 2
| (a) T TSI T
(b) WE
(c) &t R

(d) wTum. snEft

Fretafea # @ w-ar Tsg SpTSAl | gitafera T8
o1, S WS STRISH g SIuTe Hifa % wem fofer
T ¥ e g e o 2

(2) TFTIR

(b) warT

(c) wiet

=

91. m&ﬁan@wﬁﬁv%nﬁi?mwm

(b) !V!! l!!!

(c) wiS TS
(d) e s

90.

92. TRE H U feg wics, S oG A SHRE
forg Foraforemerar 3 dhes-forg % 9 1 A ST, Y
T fehera oY oft 2

(a) T TAITER forereh

(b) W& Hie wierE

o

(d) @t EFE<

o
d2

93, VR TSI HiDT HT ToH
ar?
T P
(© T
(d) ®ER
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94. Which of the following part of brain is known as
‘little brain’ ?

© comnn
(c) Pons (d) Medula
95. Blood is a type of

(@) Muscular tissue
(b) Epithelial tissue
(c) Nervous tissue

EEE
q " =t
d) Connective tissue E%v%

96. Given below are two Statements, one is labelled as
Assertion (A) and other is labelled as
Reason (R).

Assertion (4) : Amphibians can tolerate mixing of
oxygenated and deoxygenated blood.

Reason (R) : Amphibians are animals with two
chambered heart.

Select the correct answer using the codes glven !

below :

(a) Both Assertion (A) and Reason (R) are true,
~ but Reason (R) is not the correct explanation
of the Assertion (A).
(b) Both.Assertion (A) and Reason (R) are true
and Reason (R) is the correct explanation- of
the Assertion (A). :
(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) 1s false, but Reason (R) 1s true.

97. ‘Knock-Knee’

pollution of

(c) Nitrates

Syndrome results due to the

(b) Heavy metals
(d) Phosphates

98. Which of the following are water-soluble

vitamins ?
(a) Vitamins B and D
(b) Vitamins A and B

(d) Vitamins C and D

94, Frfeiaa & & wfkawh w1 H-aT AT Y ARawh’

i) Fom

(© ) e
95, T Toh TR T < R

(2) et e P

(b) ST S

(c) bR Haw

96. A< oY R Y oW
AR (A) ST IE I 1T (R) FET R |
ST (A) : ST SATRENR TAT A Tereliehar T
& e H TR S|
FR (R) : Waﬁaﬁ@mm@rwﬁﬁl
ﬁﬁqwmmmwaﬁwmwﬁm
(a) AR (A) aﬂtﬁm(k)aﬁm% L]
HAT (R), ARTEHAT (A) it Tt = T8
AT

(b) ARTHI (A) 3R FRT (R) AT T § 3K
FHI (R), STRIHA (A) sl TE ST Har
71

(c) RERIT (A) T ], T HRVT (R) T

(d) 3TRIH (A) T B, TG RV (R) TR |

97, - Rigm o IEOT 3 IO BT € |
| (2) wTREeE | & (b) i e
(c) Tsged 0 (d) iR

98, PR & & w-drer i geeiier et # 2
(2) Torftm B 3D
(b) Tt A 3B
(d) faafimcsitp

o
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99, Match List-I with List-II and choose the correct

*21*

answer using the codes given below :

99, -1 1 FE-11 & gafera i i i feg T spe
<HT SRIT T TR S T :

List-I List-IT g1 Th-i7°
s e o

(Crops) (Diseases) (%) (2?77 )f}:f}
A. Paddy i.  Wilt disease e . 3353'%%
B. Wheat ii. Black Rust - B. ﬁ_(f: " W@%ﬁ
C. iii. R t

Sugarcane  iii. Red Ro C. T W eerEeT
D. PigeonPea iv. Brown leaf sppt D. v ST ol T
Codes :

e

(8) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-iii, C-iv, D-i
(c) A-iii, B-i, C-ii, D-iv
A-iv, B-ii, C-iii, D-i

o

Which fruit ranks first in India in terms of
production ?

100.

(8) A-i, B-iii, C-ii, D-iv
(b) A-ii, B-iii, C-iv, D-i
(c) A-iii, B

A-iv, B-ii

g , :
(c) Guava (d) Papaya -
101. Which of the following belongs to cash crops ? | 101. F=fcTiad & &SI Terat e O TS E ?
I. Potato I IS
II. Rice - I o
III. Sugarcane I 7=
IV. Cotton IV. U™
V. Rapeseed V. e T (QUEe)
Select the correct answer from the codes given e fow 7w e # @ TR TR T FHifeTa :
belaws (a) I, IR
(a) LIlandIII ®) LI ARV -
Sl &
@ MLV

102. “Kisan Call Centre’ was started by
(a) ICAR
(b) Ministry of Agriculture and-
Welfare, Government of India
(c) State Agricultural University
(d) NABARD

armers
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1103, Deficiency of which of the following elements | 103, F=iferRaa & & forg awer hr et % wror 9E i &
causes yellowing and poor growth of the plants ? ' aﬁ%waﬁq@waaﬁﬁ% ?
(a) Phosphorus (@) FERRE
UREGS
(c) Calcium © o
(d) Boron g @ R

104. Which one of ﬁ% following pairs (Folk dance —
Place of Origiri)is not correctly matched ?

(a) Kaikottikal — Kerala
(b) Himachali — Kullu Valley
(c) Koli — Maharashtra

(d) Yakshagana — Rajasthan

105. Match List-I with List-II and choose the correct
answer using the codes given below :

List-I 2 % List-IT
(Buddhist tagg"% (Content)

A. Vinaya Pltakaj’ i. Regional histories of

: ;:: Buddhism

B. Sutta Pitaka' ~ ii. Buddha’s teachings

C. Abhidhamma iii. Rules for those joining
Pitaka the Buddhist monastic

order

D. Mahavamsa
Pitaka
Codes :
(8) A-iv, B-iii, C-i, D-ii
(b) A-iii, B-iv, C-i, D-ii
A-iii, B-iv, C-ii, D-i o
(d) A-iii, B-1£,C-1v, D-1 E%@
106. Which of the fg%)wing is not a Rabi pulse crop ?
(a) Chickpeai;?;i:j
(b) Lentl ™

(d) French bean

iv. Philosophical matters

104. ﬁﬂ%@ﬁﬁ@r@qm?ﬂ@vﬁsﬁaﬁ Sty s
TIT) WE AT 78T 8 2

(a) HIgRITTH — HeT
(b) Tewmertt — ey Tl
(c) hielt — TERTE g%

d) IS — TSI - Bl

105, -1 31 FEA-11 & gAfera hifsrg 3R A= g g e
WWWF@W%&Q:

Tl gqell-1

(515 79 (ferva-ag)
A. T fies i dig o el

BN

B. gafies ii. &t Ramg
C. e fies il Sgued mite e
: Tt o fore Frrm
D. WEEy fUew iv. TSI A
e :

(a) A-iv, B-iii, C-i, D-ii
(b) A-iii, B-iv, C-i, D-ii
(c) A—111 B-iv, C-ii, D-i

106. Frerfefem ¥ 2 - o et A e e
g7
(a) . =T
(b) "E

(d) gaﬁwﬁ Ch= &)
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107. Which State Govern_ment has started the scheme
‘Nivesh Mitra’ ?
(a) Tamil Nadu

(b) Madhya Pradesh
¢) Uttar Pradesh

(d) Maharashtra

108. What is the name of the third volume of

Akbarnama written by Abul Fazl ? :
(a) Sulh-i-Kul

(¢) Manzil-Abadi

(d) Sipah-Abadi

B

109. How much were India’s foreign exchange reserves
at the end of December 2024 ?

(a) USD 629 Billion
b) USD 578 Billion
-3 Billion

(

USD 653-97 Billion

110. Which among the following is the largest Stupa in
the world ?

(a) Dhamek Stupa

b) Sanchi Stupa
\(c) Kesariya Stupa |
d) Bharhut Stupa '

111. Before his death in 1539 A.D., whom did Baba
Guru Nanak choose as his successor ?

(a) Guru Namdev
(b) Guru Tegh Bahadur

(¢) Guru Arjan

112. Which state has the largest economy in India ?
(a) Gujarat ' '
(b) Tamil Nadu

(¢) Uttar Pradesh
(d) Maharashtra

107. “Fer fipr JismT foFe TST TR 510 IR Y T8
g7
(a) ﬁ‘&lﬁﬂ]‘g ]

(d) WRRISE .
108. 3T B o SN Torel 718 S7eharraT sht ey fore st
ARG ?

() GEE-TEHA
(c) HfSIeT-3TTeIrt
(d) foog-smmendt
109. feremer 2024 3 3iq 3 s a6 fereft qav sigR fover

(d) 6539715

110, Tt & & ferva 1 Tl a1 WU H-ATR 2

(a) T W
(b) @it

o

111, 1539 €. % St Heg % v, I 76 A 3 I
(@) TEAWE
(b) & AT ST
(c) T I

| () T3]
112, 9N 4. o oot 3rfegee e TSI 8 2

(@) T
(b) dfterTg
(c) YN

(d) WEaT&™ j Sy
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113. Who among the following was the first Indian to
be awarded the ‘Bharat Ratna’ ?
Pranab Kherjee
(c) Abdul Ghaffar Khan
(d) Nelson Mandela

114. Among the followmg, which one is the statutory
body ? o
(a) NITI Aayog
m
(c) Planmng Commission %ﬁ
(d) Labour Commission [eln

115. Distribution of Taxes between Centre and States
in India is done by the

Finance Comm1ss1on

(c) National Development Counc11
(d) Parliament L3

116. Which of the following cntl,cs used the term

“Quasi-Federal” for the Ind1an system of
government ?
(a) Jawaharlal Nehru

b) .Laski

: (c) K.C. Wheare

d) B.R. Ambedkar

117.

Estimation of National Income in Ind1a is done by
the :

(a) Natlonal Income Comrmttee

Natlonal Statistical Office:
(d) Reserve Bank of India 1}
118. Which among the following is-mof a part of the
Governing Council of NITI Aayog ?
(a) Chief Ministers of Delhi and Puducherry
(b) All Chief Ministers of States
(c) Lieutenant Governor of Andaman and
Nicobar Islands

d overnors of States

113, FrefRed & & e T & e S e e
AR A 3 2
(b) ST FESit
(c) oG THHR EH
(d) SoEA HeaT
114. ﬁn%ﬁaaﬁﬁaﬁqm@émﬁmm%?
(a) =hfer s

©)
(d) = T

115, ST B ¥ AT 3 e il ohT FRROT ST |
(@) TS AR

(c) TS T aits
(d) T
116. Trerferiaa & & g STTeiees SR IR SHeet
% foau “arefdemenen” W?ﬂ;@ﬂ%m?
(a) SO EE

118. Freffaa & & 1 ife SR % rEehi TRwE
Remagigars ?
(a) Taoeh it qged o qea wl
(b) TsAH AT gEa At
(©) a@ﬁaﬂtﬁaﬁmm%mw

2]
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119. In which session of the Congress was the “Purna
Swaraj” resolution’ passed ?
(b) Calcutta session -

(¢) Lucknow session
(d) Madras session

120. On defeating which politician, did Subhas
Chandra Bose become the President of the Indian
.National Congress ?

(a) Sardar Patel

] Jawaharlal Nehru

\(c)_Paitabhi Sitaramayya |

E5E
( . Rajagopalachari E%

121. Match List-I with List-Il and choose the correct
answer using the codes given below :

List-I ) List-IT
A. Jat Rebellion i. 1554 AD.
B. Bundela Rebellion ii. 1672 A.D.
C. Satnami Rebellion  iii.. 1669 A.D.
D. Sikh Rebellioq iv. 1675 A.D.
Codes :

A-ii, B-iv, C-i, D- 111

(b) A-iii, B-i, C-ii, D-iv i

(¢) A-iv, BHiii, C-11, D-1
(d) A—1, B-ii, C-iv, D-iii

122. When did the Anti-Partition Movement begin with

a massive demonstration at the Town Hall, |

_Calcutta ?

(b) 5th August,

(c) 16th August, 1905
(d) 16th October, 1905

123. Which of the following countries did not
recognize the Azad Hind Government ?

Gy

(c) Italy (d) Philippines

119. m%}?ﬁmaﬁl&mﬁ wa EaRIIERITG)

(b) - W" BEE

(©) TS SRR

(d) TS AR

120. gﬁmﬂaﬁamwﬁmﬁwﬁaww
TS i & 3TeTe o 9 ?

(a) WERRH

(b) ST, IEE

121. T e & e AR s A9 Ry e
wuﬁnwaﬁwgﬁq

TElI-11

1554 %.

1672%.

1669 3.

1675 %.

(c) A-iv, B-iii, C-ii, D-i
(d) A-i, B-ii, C-iv, D-iii
122. ST o ST B H Th ORI &RH % 9
Tt o foa | aﬁmmmgm ?
(a) 7 SFTE, 1905
(b) 5 3T, 19053
(c) 16 3FT, 19051 _
(d) 16 ST, 1905 Fr - B8

123. ﬁm%%aﬁﬁm%ﬂﬁw%zwaﬁ
mrq?nﬂg‘i‘q”raﬁv
(c) et

(b) Sl
(d) Trferdia
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124. Which of the following pairs is mot correctly

-,ﬂ,‘

matched ?

Mahalwar1 Sys e:m—
Ryotwari System — Madras

©)
(@

125.
answer using the codes given below :

List-I List-IT
- Kushanas Devaputra
Pulakeshin IT

i
ii. Sakalottarapathanatha

; Dakshinapatheshwara

Harshavardhana 1iii.

O Qe

Codes :
(a) A-ii, B-i, C-iii, D-iv
(b) A-ii, B-iii, C-i, D-iv
(c) A-iii, B-iv, C-ii, D-i

e

126. For whiéh of the following rulers, is it said in the
‘Udaipur  Prashasti’ that. “He achieved,
accomplished and made possible everything that
could not have been done by anyone else” ?

(a) Vakpati Munja ;.
(¢) Mihira Bhoja
(d) Sindhuraj

127. Which of the following kings stated that “All our
people should create the good deeds, free from all
disasters, enjoy the joy with minds unpolluted
with jealousy” ?

(a) Chandragupfa Maurya .
(b) Ashoka

(d) Samudragupta

Match List-I with List-II and choose the correctA

124. ﬁn%i@aﬁ%aﬁqmmaﬁgﬁmﬂﬁ%?

125. G- Efl-11 & A A i At fagmespe

5T T A S G :
gell-1 -1
A. T i, S
B. ga%ﬁm%eﬂtr i, HERQIRIYATS
C. TR i, SIS
D. W iv. HieST
%c:
(a) A-ii, B-i, Ciii, D-iv

(b) A-ii, B-iii, C-i, D-iv
(c) A-iii, B-iv, C-ii, D-i
D

»
q % »

126, e # & fora e % fg ey SRk &
FET T € 6 S I A 5 TR SR e S W
foper 3 ST S o RRelt g e R € weh
ar ?

(a) SR HST

© ;
(@) R i
127. Frefafea & @ frg e &1 e § 6 <gart ol
ST TceHHT T G e S, T SATIGTS & o,
o7t & ST T & TS T T L ?
(a) TETAHE
(b) i

SEE

(d) wHSTA
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128. Which one of the following states recorded the
maximum decadal growth of urban population
during the period 2001 — 2011 ?

(a) Nagaland

(c¢) Kerala (d) Maharashtra
129. Which of the following is an ocean current of the
Atlantic Ocean ? TR
(a) California current {(b) Benguela current
(c) Alaskacurrent = (d) Humboldt curren
130. Arrange the following states in ascending order on
the basis of percentage of Tribal population as per
Census 2011 :
I.  Madhya Pradesh
II. Maharashtra
III. Rajasthan g%a
IV. Meghalaya Bl
Select the correct answer from the codes given
below :
(a) ILIV,ILI (b) LILILIV
W LILLIVY (@) IV,LILII
131. Which of the following river originates from
Mansarovar in Tibet and- passes through
Shipki La mountain pass ? L
(c) Ravi (d) Chenab

132. Which one of the following states was most
urbanised as per Census 2011 ?
- (b) Maharashtra

(©) Tamil Nadu (d) Gujarat

133. The Brahma temple of Pushkar is in which of the |

following states ?
(a) Uttar Pradesh
(b) Himachal Pradesh
(c) Gujarat

128. ﬁmﬁﬁaﬁﬁﬁ%&rm# 2001 —2011 Y Fafr s
IO IR SHEEHT shi 31Rrehad SIThIY Ffe gsl ot ?
(c) W« 33 (d) RN

€

HIE?

(c) TR &I (d) TS 9T

2011 3T SO 3 AW, FrferRad Tsa l STeh!
SISt ST 3 ST 3 STTER TR STRIET 550
sqaﬁuaa?lﬁq

129.

Aran

130.

I WEeW

I HeNrg

M. TR

Iv. WEed = o
Frer foQ T e H | TR HT = hif

(@ ILIV,ILI () LILIL IV

131, Rrefifed & @ SH-e T Rewa § e &

I grent Riveht @t veTEl &8 @ TSRl § 2
(a) =™
(c) Tl ()]

132. 2011 T SHTUFET 3 AR Frfaiea § & siH-A1
TSI T AT Yiehd o7 2
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134.

The phenomenon of “urban heat islands” refers
to:

Increased tree cover
Decreased temperature in urban areas

nearby rural area
Decreased energy ¢t

th:é‘{;?"National Institute of
Agricultural Economié;i’fand Policy Research’
located ? ' ‘

© v
(c¢) Hyderabacd (d) Lucknow

135. In which city is

136. Which website has been prepared to monitor the
financial activities of the State of Uttar Pradesh ?

@ Srishi

(c) NIC (d) Arthashastra

137. Which of the following states of India has higher
- number of females than & ales ?

iai Tamil Nadu figé) West Bengal

;«(@) Karnataka
138. Biofertilizej B,

a) Cultures of micro-organisms

(b) Organic manures
(c) Green manures
(d) None of the above

o -

i

139. Who is the author of the book “The Population

" Bomb” ?
a) Paul R. Ehrlich (b) Donald Bogue
c ompson (d) Malthus

140. When was the first Mineral Policy announced in

the State of Uttar Pradesh ?
(a) On December 29, }9
b) On December 29, 19

(c) On December 29, 1997
(d) On December 29, 1999

134, “STett ST S <Y witere fohed daftfa g 2
(a) T&T TS Shl ATl
(b) el & | Ao H et
ATE-IT o JTHOT &
SILLIG)

135. T i refamre S A g e few

I A RYas?
B
(c) . TR (d) TETH E*i%

136. STTRIT TS S forhar femamati oht e s o fore

HI-H TS AR TR 2
@ g
() WIAEHNIC) (d) R
137, A FfaReaa § & fore vea & aftemen i v
T ¥ AR ?
a) AT (ORRIELEUS
(d) HAIH

(b) hisI @ |
(c) @R .
(d) o o QIS T
139. “Z Qg oFH  ATHeh T&Ieh % @ I § 7
s o) s

(c) TPIEH (d) wreuE

G

140. 3T TRYT TS T ygelt @ivsr Hifer e iy it 78
off 2
(a) 29 @, 1996 %1

(d) 29 femTsr, 1999 =
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141, T F AT IR

(2) Wﬁf (b) TR
@ Tt

142, aﬁﬁg@@rwm%

@ st
(c) i (d) T

O A S S

(c) atrma?mmfrmam

(d agwgnﬁq%“re’ml |
144, TreferRaa o © Y7 Aoy 1 = i -

(a) €U S AL TEATR |

(b)  HURAT AT T ITHHETT it |

\(c) TrRetaEaEan? | i

(d) TRIAHTETAN AL | o
145, 3TENTIRET H § HI7-T STer JTeq-=re oAl Y W Y&

g7

(a) HIEeT ST SfieH 1 TR HS R |

\(b) T ! figaq ame e ||

(c) ST g o TR & TR H HI§0r 371k B

TRIT |
(d) Tﬁﬁiﬁaﬁm%mﬁ@éWWWI

146. & AT hT A HI :
(a) T TUR ST ST ST | |
(b) <& IS A -

c) 36 T feT A usar s |

147. A1 I ST W SRE IR T -

a) TP (b) SrEfiEn

(@ fea=g
148. TeAicTRed o <27 31se o1 Suger forei @ :

(2) T RORC

(c) 3Teud

149, TER-IF G- - g AR sf e Ry moge
mmmaﬁrmﬁﬁq

agsﬁl ":,w -1
B. SEEA i, sHAwr
C. 3&d iii. 3T
D. S§¥d  iv. JTEed
%<

,,1.

i

'-m, D- i

(d) A-iv, B-ii,

150. %@nﬁqﬁ%ﬁﬂaaﬁa—?ﬂ%: '

CELE S WO

(c) 3T TR (d) goier - Feiet

T eI & g iR SRS R
<HT RN T HET ST T
-1 ;3} 1
(¥7153) gﬁfﬁvﬁm

A. EE I{M:TJ]T

151.

- B. =@

(b) A-i, B-ii, C-iv, D-iii
(¢) A-iii, B-iv, C-i, D-ii

(d) A-iv, B-iii, C-ii, D-i
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152. wvﬁnwﬁamﬁw; TR TS’ I7o] ForRIoT

R NEE?

(a) Wﬁﬁ@?‘
(b) HIETT-ITﬁEFﬁ'-‘?NﬂT
o R

153, BRI 8 s T T

-«
OEELEE
:

(b) TR :
(c) Tl | Bl
(d) widvg o

154, FefeTRea # urarereh forgiwor o sferia 787 2 -

BOREL ST
(c) IIIq &;
@ fer Z 4

155, ﬁw%@aﬁa%@?%ﬁmﬁwwm#
g7
(a) R, 3o, Yetien, Tsfier
(b) &, B, IS, 3
(©) :ﬂﬁf g, grr sﬁa:r
156. freforfaa & & <a1fir o1 afaareh 781 2

(a) §HTST—T b) YTdh

R
157, st ST g’ j e

@ fdwr

© mm

(d) Suger o & S T

158, TeferRad @ & si-a1 w158 “gar 1 wEiEaT T8
77
(a) Uteu b) %
© F IRTE

159. STenferfad & @ 7€ 1 yigaT 78 © :
(a) Mo
(b) fe=m
(c) dfeft

N O
L@ T ]

160, Frerfifea 5 & STE mwh-q'ﬁﬁﬂa?%
(@) feremar

- (o) Temami
(@) iR

161, TeifrRem 3 & Rig” T 9E -

162. enferfaa & o fora fasren o wvft wroe warfaam=ht
T2
(@ dN, I\, 5, W=
(b) o, fore, g, ofew

(d) m@‘?m&ﬁﬁr&m e

163. Fr=feriaa & & e =i yataar=h 787 ¢ :
a): HHY i
(c) Hed
(d) T

164. F=faftaa & @ =her 1 wibErt 78R -
a) ST
(c) & i
(d) qar
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165. =g 1ot &Y TR |” Sy & forgiwor yree & -
a) ST
(b) a®
©
(d) e

166. freferea w1sal & & -1 753 TEa § 2
(b) &
(c) r&T™r _
@ ¥ B

167. STeNfeTiead o ¥ “TeHH’ 3168 Shl T4 T ;

168. STeNfARET & ¥ Teem-ad o el I TET © :
(a) SReeHT — T
(b) Hefd — WL

@

169. TCHH-THA h g1 U hi-81 I T TET R 2
(b) TCITSRT — TS
(c)y #R-®Rr
@ Sg-3e

170. <o SR 37 FH H@T R | A i seEm

 31¢ forRIeor o1 -1 98 & 2

171, aTeRIaT 3 fore woh wree <6 gfd & wr-a g o

(©) m%mﬁmuﬁ iRt
(d) 31T HISH T e — e |
172. 3o I1sat o forq wer wree 3 Fvferfee it 4 @
#r-mnm%?

(b) @ﬁﬁsﬁﬂ a‘g&ﬂ
(c) <M T < f%fcm
(d) ST o goeT = e
173. R et s <Y SrmRiem 7 B R % e
ST AT R
a ﬁ:@}?
(b) ™9
() frewe
(d) Froug
174, =it 1 gRe & Y ooe Y wear AT :
(a) ST

[EEE[E
(c) wreuHfamsa (d) gi@r - E“i’%

175, T B o @ g v et P ) e

SHifrg - |

(b) T, Tuld, WEed, I

(c) SO, Jexi+, qarmsar, SARaH
(@) afef, anfeeht, ml%qaqsﬁtr&qa

176. m&amm%wmam

. 3B &

(@) 'mﬂaa'aasn%rm
(b)  srim, farfer, Tamer
(c)  SIHICRY, STATAT, STgar
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177. Torrsa-fergwor i gy & sier-am Rerer T & 2 182, ST hTeh Tk h Tl &1 St STe) ARSI SISt
(R). - SHEI—SYHR o foTT S Ise R
0 s o
(c) T=oT—Wem (b) forreTsem
=== | © e
178. Frefrfae & & frsior wreg w51 = e - (&) Sehfear
(a) 3Tfe 183, ST o ToTC Tk S1oe” o STeiifoTRaa frereai §f &
(b)) 10T fohed SRE R 2

c) I ; m-m  (a) RN o e 8 - g
y. (d) R SfifeRAT — SRRy

184. “FSr safes 1 o et oft 391, whrer affc TRRufy
THTHH TR, W%W@WW%

(c) HEATETEE: foyor ‘ (a) TR
(d) ufeToTETerR frior (b) el
180. FEfi-1 bt fi-11 & gorfora vy s e e e
fmfwwaﬁq (d =R
-1 -1 185. ‘3T 3R Y f= o weararell 1o oh s et & 2
A I LRy o (b) TR
B. fae i R (©) e oys
. fem i R o () m
D. fe . mew | 186. ‘T Wos Frafufad § & R iy % Rrg
e : RGN 2
(@) - A-i, B-ii, C-iii, D-iv - ﬁmw;h

(b) AlllBl"ClV-Dll | © e ﬁ%@ﬁﬁm'ﬂ'ﬁﬁwﬁl
s . @ JMHF I I T T @@L |

| 187. memmww BT BT I

(d) A-ii, B-iv, C-1, D-m

181. mﬁﬁﬁwm%: T
a
(a) T BT SUSHR Y AT 1T — 3
(¢) T P

(c) TSTEehT YR T 9TIT SITT — ST

(Dt | | @ e R s
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188. Sreitferiiea o & g 3roq h fRfea AT
o=

(b) : sl

(c) =m0

(@

189. Freferiea & @ shi-ur foerew qeom sse TR 2

(b) <

(© W
(d) S _
190, ‘1T I8 HT AEHTIR
(a) dRT
(0 T
(@ R

191, TCHH-TES HT HIF-T ferehed T 2

iai s — Wi

(c) Ffteh — et
(d) W — TSt
192, Trefified & & H-A1 G 1 W TUE 2
- (a) @
(© i
(d) e
193, TRl ferell STl T ST 81 JTaRITRT 3 T Sueery Sreq
. A
(2) Fgg ORESK
(@ F
194. ﬁﬁqnqsrﬁﬁﬁm#i‘%

(a 9@
(b) avﬁﬁa

a%

195, ‘T T Rem Isg 2
(a) ST

b) et
@

N

196. SRy T UED Tog 3 Fereiie o1 wet Rrebea & -
(2) S, e
(b) TS
c) - IR, ST
(d) e, Srferie

197, Frefirfer i & sy reimamr &
(@) ShicTen — ITfarRt
(b) T AT

(d) n‘g;mm

198, Pt e Freiwat % @ o 1 =

e

?
(b) Terfer — Fmer

(c) AT I7&qm
(d) <fegor—am

199, ﬁw%f@aﬁsﬁnsﬁmﬁ@qﬁqg?%
(@) @<z
|
(c) ITR=SFE o5
(d) STR=TR )
200. ferelim i gf¥ @ fraforiad & & wet woa-gm &
(a) wamT— R
(b) ATHSA — ATHA
(d) g Taea .
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(ii) If a candidate gives more than one answer, it will be treated as a wrong answer, even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank; i.e., no answer is given by the candidate, there will be no penalty for that question. [}

- Note: Please check that the Bar Code Serial Number printed on the Question Booklet and the OMR

Answer-Sheet is same, in case of any discrepancy in it, get it changed with another set of sealed
polythene packet of Question Booklet and OMR Answer-Sheet. . 1
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